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SOCIAL STUDIES FORUM KURNOOL
DAILY TEST-1

CLASS: 10™ (E.M) MARKS:15 TIME: 30 MIN

LESSON: INDIA —RELIEF FEATURES

*Answer the following questions 6x1/2=3m

1. Find the odd oneout. ( )
A.Dehradun B) Patli dun C) Alahabad D) Kotlidun
2. chota nagapur plateau is rich in---------
3 .statement 1: the southern tip of india is Indira point it is in nicobar island.
Statement 2: the southernmost tip of Indian peninsula is Kanya kumari.
A) 1&2 are right.B) Statement 1 only right C) Statement 2 only right D) 1&2 are wrong.
4. mishmi hills: Arunachal pradesh cacharhills: ???

5 .match the following:

A B
A. Ooty 1) swampy and marshy region
B.Terai., 2) Thar desert
C.chilka lak 3) Udagamandalam(tamil nadu)
D.luni 4)Chinthapalli(AP)

E.aroyakonda \ 5 )Odissa
6) Sunderbans.

Q.Which pair is wrong?

6. Remember in physical map of India related to ghats.

Western ghat astern ghats

Annamalai hills chinthapalli

Palakonda hills

seshachalam hills
Western ghats and Eastern

ghats joins:GUDALURU

(NILIGIRI HILLS)

Cardamom hills

Q.Which hills are not in western Ghats identify?
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Section-//
7.82.30’ Eastern longtitude is passing through how many states in India? 2x1=2m
8.what is a DUN? Give an examples?
Section-/// 2x2=4m

9.’the indo-gangetic plains have high density of population " iilustrate with your reasons?

10. The sun rises two hours earlier in Arunachal Pradesh as compared to Gujarat in the
West. But the Clocks show the same time. How does this happen?

Section- v 1x4=4m

11.If the Himalayas would have not been in its present position how would be the climatic conditions
of the Indian sub continent?

(or)
Describe the major relief divisions of Indian land mass?
Section-v 4x1/2=2m
Locate the following places in the outline map of india.

12. A) any one state passes tropic of cancer .B) Thar desert C)Palk strait D) Mt everest

(or)

A)Malwa plateau B)Mt Abu C) Chota Nagpur plateau D) Highest peak in southern India

WK Yo,

Prepared by: A.ABDUL RAHIM .SA(SS) ZPHS NAGALADINNE .KURNOOL CELL:9490396104
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SOCIAL STUDIES FORUM KURNOOL

DAILY TEST-2

CLASS: 10™ (E.M) MARKS:15

TIME: 30 MIN

LESSON: IDEAS OF DEVELOPMENT.

*Answer the following questions 6x1/2=3m
1. Measurement of HDLI.....?
1. Health 2. Education 3. ???
2. Schooling revolution started in------------------ state.
3. Different persons have different aspirations about the development because. -------- ? )
A) People are different B) Differences in opinion C) Living standards are different D) All
4. Related to mid day meal programme.....
Which statements are advantage ?
1. Toincrease the attendance rate.
2. Toincrease economic status of parents
3. Toincrease skills of learning
4. To provide nutritious food.
A)1&3B) 1&4 C) 2&3 D) 3&4
5. The sex ratio is 880 in Punjab” .What does this social indicator indicate? --------------
1. Women discrimination 2. Women empowerment.
6.
Economic activities 1. Poultry. Electricity , banking , mining, agriculture , construction.
Q. Write any two activities under secondary sector? ------------=-----—---
Section-| | 2x1=2

7. Expand UNDP?

8.what is human development?
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9. Section-111

Observe the above picture..

Who are the people benefited and who do not?

10 . Here is a comparison between two countries. Country A has 25000/-
Percapita income, with the life expectance rate of 70years and 80% of net
attendance rate. Country B has 50,000/- percapita income with the life
expectance rate of 50 years and 50% of net attendance rate.

What do you think that which country is good at human development?

11. What is the conflict between government and the people living in Kudankulam?

Section-1lv

11. What lessons can you draw about the importance of income from the fact that Himachal Pradesh
has a better development ranking than Punjab? . Is it possible? support your answer?

(or)

Classify the countries based on percapita income of the people?

THANK YOU

Prepared by: AAABDUL RAHIM . SA (SS) ZPHS NAGALADINNE. KURNOOL CELL: 9490396104
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SOCIAL STUDIES FORUM KURNOOL

DAILY TEST-3

CLASS: 10™ (E.M) MARKS: 15

TIME: 30 MIN

LESSON: PRODUCTION AND EMPLOYMENT.

SECTION-/

1. Based on the relationship between the information in the first pair, complete the second pair.

A. Narasimha works in government office — organised sector
B. Rajeshwari is working as a construction worker - ??

2 .GDP Stands for------------------

3. Find the odd man out.

A) Primary sector B) Secondary sector C) Disguised unemployment D) Service sector.

6x1/2=3M

4. “Which don’t directly produce goods but provide service that are required in production and other services is”

Which service is referred here....?

5. Which services are not calculated in GDP?

A) Women police services B) Women Teacher services C) Women child care services D) Women agriculture labour

services.
6. Identify the correct conclusion.
Statement 1: agriculture” was the largest producing sector in 1972-73

Statement 2:service sector was the largest producing sector in 2009-2010

A) Statement 1 is the correct. B) Statement 2 is the correct. C) Both statements are correct. D) Both statements are

wrong.

Section-11

2x1=2M

7. Ten labourers are working in the harvest of one acre paddy field instead of the actual need of 7 labourers.

A. What kind of unemployment is this?

8.Give examples for community ,social and personal services?
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A.ABDUL RAHIM

*0bserve the table and answer the given within the table questions.

9 Section-111 3x2=6M.

e The following table shows the percentage of workers employed in different sectors
in India in 1972-73 and in 2009-10. i.e. after 37 years.

Year Agriculture Industry Services
1972-73 74% 11% 15%
2009-10 53% 22% 25%

(i) What are the major changes that you observe from the above table?

(i1) From what you have read before. discuss what could be some of the reasons for
these changes.

10 .Difine organized , un organized sectors?
11 . How do we estimate GDP?

Section-111 1x4=4M

11. Do you think classification of economic activities into primary, secondary, and service sectors is useful?

(or)

“The service sector is different from other sectors”------ comment.

Than ol

Prepared by : A, ABDUL RAHIM. SA(SS) ZPHS NAGALADINNE. KURNOOL (D.T) 9490396104
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SOCIAL STUDIES FORUM KURNOOL
DAILY TEST-4

CLASS: 10™ (E.M) MARKS: 15 TIME: 30 MIN

Section-|

1. Find the odd one out.

A) Land water relationship B) Upper air circulation C) Relief D) Advancing monsoon.

2. The place which continental climate is-----

A) Delhi B) Kolkata C) Mumbai D) Chennai

3. Rain shadow region during south-west monsoon is------------

A) Deccan plateau B) Kashmir C) Narmada valley D) Delhi

4. Identify the wrong statement.

A) Western disturbances are boon to wheat crop. Which is cultivated in Rabi?

B) The bulk rain fall in India received from south- west monsoon.

C) Hills and mountains have high temperature than the plains.

D) Bursting monsoons are locally known as mango showers in Andhra Pradesh.

5. The difference of temperature of place “A” between day and night is very less. And place “B” is high.
Which place is far away from the sea?

6. One of the human activities that contribute to global warming is-------------

A) Afforestation B) Deforestation C) Both A&B D) None.

Section-|| 2x1=2M
7. Define the October heat?

8. There is high pressure is in the east and low pressure in the west. How does the wind flow?
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Section-111 2x2=4M
9. Observe the given picture.

Q.What the reason for climate of kanyakumari being entirely different from Bhopal or Delhi?

Sun’s Rays

10. Jaipur is hotter Leh. Explain your answer?

Section -lv 2x2=4M

11.”The Indian agriculture depends completely on the monsoon” Explain ?
(Or)
How do the human activities cause global warming?
12. Locate the following places in outline map of India.
A) State which gets more rains due to north-east monsoons. B) Delhi C) Jaipur D) Deccan plateau.
(o)

A) Tropic of cancer B) Mango showers state. C) Kerala D) shimla.

THANK YOU

Prepared by: A A ABDUL RAHIM. SA (SS) ZPHS NAGALADINNE . KURNOOL (D.T) cell: 9490396104
Verified by: S. RANGA SWAMY ZPHS KARIVEMULA .KURNOOL (D.T).

www.bestsocialteacher.com




www.bestsocialteacher.com

SOCIAL STUDIES FORUM KURNOOL
DAILY TEST-5

CLASS: 10™ (E.M) MARKS: 15 TIME: 30 MIN

LESSON: INDIAN RIVERS AND WATER RESOURCES

1. River Ganga has twin sources Fill in the box

1 ALAKANANDA }

2. The following is not a Himalayan river

(a) Brahmaputra (b) Indus (c) Ganga (d) Mahanadi

3 .Observe the outline of India and Write any one river flowing into the Arabian sea.

4. Read the following information.

Perennial rivers The Ganga,the Brahmaputra, the Indus.

Peninsular rives The Godavari, Krishna, the Mahanadi

Question: Name any two rivers an absence of meanders?

5. Find the odd one out.
A).Chambal , B).Gandak ,C) Krishna D), Yamuna

6. Fill in the box as per first pair

1.Ganga: Gangothri: 2. Brahmaputra : ?

SECTION-11 2x1=2M

7. Arrange the rivers from north to south according to their location (Godavari, Kaveri, Ganga, Penna, Krishna, and
Mahanadi.

8. Write two slogans on water saving?

www.bestsocialteacher.com




www.bestsocialteacher.com
2x2=4M

Section- 111
9.” 70% of the earth’s surface water is polluted “what are the reasons for the pollution?
10. What are the four bandis of Ralegaon siddhi Adarsha grama yojana?
Section-Iv 2x4=8M
11. Today underground water is the main source of water for people............ There should be
Some restrictions. Do you agree with this? Write your opinion?
(Or)
Observe the map and answer the following questions.
—— ~
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A) Name the northern tributaries of Ganga?

B) Where the river Ganga merging?
C) What do you call Brahmaputra in Tibet?

D) Write the other name of river Ganges in Bangladesh?

12. locate the following rivers in outline of India .

A)Narmada B) Krishna C) Ganga D) Brahmaputra

(or)
A) Tungabhadra B) Lake pulikat C) Drained river in Thar Desert. D) Maha nadi.

Prepared by: A. ABDUL RAHIM . KURNOOL DT. 9490396104.

Vrified by: S. RANGA SWAMY.
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SOCIAL STUDIES FORUM KURNOOL
DAILY TEST-6

CLASS: 10™ (E.M) MARKS:15 TIME: 30 MIN

LESSON: THE PEOPLE

1. What does the poster indicate? 6x1/2=3m

e et e I )

2. Based on the relationship between the information in the first pair, complete the
Second pair.

Children: Below 15 years:: Working age : ?
3. Find the odd one out with regard to reducing the differences in sex ratio.

A. Education B. Child marriages C .Infanticides D. Superstition.
4. Identify the true statement.
1. The number of females in india has consistently been lower than that of men.
2. in the age group 0-5 the number of girls who survive is much lower than boys.
A. 1 Only true B. Both are true C. Both are wrong D. 2 Only true.

5. The first complete census was taken in

6. according to 2011 census, which of the following statement is true?

A) The state of the lowest sex ratio is Haryana.
B) The state of the highest population density is west Bengal.

A)A Statement is true. B) B Statement is true C) Both are true D) Both are wrong.

Section-i
7. Observe the following table and answer the questions. 2x1=2m
Gender Bias:
Area: Haryana Punjab AP Kerala
Sex ratio: 879 895 993 1034

RAHIM
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a) Gender discrimination is high in which state?

b) The factor that helps to reduce the differences in sex ratio

8. "We often hear people blaming population growth for all that problems we face”
Comment..

Section-iii 3x2=6m

9. Write two slogans on gender equality?

10. Draw a table based on the information given below.

Sex ratio is the number of females per 1000 males in the population. In 1951 there
Were 946 females per 1000 males in India? In 1991 there were 929 per 1000 males and
933 in 2001 and 943 in 2011 respectively.

11.0bserve the graph and the following questions.

[ POPULATION PYRAMID INDIA ]

100 & 100+
90-94
80-84
70-74
60-64
50-54
40-44
30-34
20-24
11-14

0-5

FEMALE

15 10 5 O 5 10 15

A) In which age group more population is recorded.
B) What do you observe from the pyramid?

Section-|v 1x4=4m

12 why the population increased continuously after Indian independence?

(or)

What are the reasons behind the high density of population?

Thank you

Prepared by: A.ABDUL RAHIM. SA (SS) ZPHS NAGALADINNE. KURNOOL (D.T) cell: 9490396104
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SOCIAL STUDIES FORUM KURNOOL
DAILY TEST-7

CLASS: 10™ (E.M) MARKS:15 TIME: 30 MIN

LESSON: THE WORLD BETWEEN WARS 1900-1950 PART-1

ANSWER THE FOLLOWING QUESTIONS: 6x1/2=3M
1. In which year the British women got Right to Vote?
2. Find the odd one out with reference to secret alliance.
Germany, Austria - Hungary, Italy, France.
3. Arrange the following incidents in Chronological order

A). Formation of UNO, B).Breakout of Second World War, C). Treaty of Versailles). German
invasion of USSR.

4. Identify the wrong objective that related the UNO?
A)Establishing the world peace, B) protecting human rights, C)Striving for the progress of
USA, D) Promote social progress.
5. Based on the relationship between the information in the first pair, Complete the second
pair
World War -I: Murder of Austrian Prince: World War: 2?
6. Arrange the following from North to South based on their location?
Germany, Denmark, Italy, Austria
SECTION-2 2x1=2M

7. Prepare two slogans on “prevention of wars”..?

8. Observe the picture and In which situation this photo was taken? And who was taken this
photo?

Section-3 2x2=4M

9.What are the effects of wars?
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10. Industrialisation was one of the reasons for the modern wars? Do you agree
with this statement?

Section-4 1x4=4M
11.What were the important causes of two world wars?
(Or)

Why the historian Eric Hobsbawm called the 20t century as “the age of Extremes?

Section-5 4x1/2=2M
12. Locate the following the places in the outline map of world.

1. The country that was worst hit by Great Depression.
2. The country of Danzig Port.
3. England
4. Mediterranean Sea.
(or)

1. English Channel

2. Paris

3. Atlantic Ocean

4. czars ruling country.

Prepared by: A.ABDUL RAHIM SA (SS) ZPHS NAGALADINNE. KURNOOL. Cell: 9490396104.
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SOCIAL STUDIES FORUM KURNOOL

DAILY TEST-8

CLASS: 10™ (E.M) MARKS: 15 TIME: 30 MIN

LESSON : THE WORLD BETWEEN WARS PART -2

SECTION-1 6x1/2=3M
1. _Based on the relationship between the information in the first pair, Complete the second
parr USA: Capitalism; USSR:??
. Identify the following that took place in 1924?
. Murder of Prince of Austria

2
1
2. Treaty of Versailles
3. USSR was set up

4

. Formation of Muslim League.

3...Identify the country that was noted by Rabindranath Tagore in his comment "It all
seemed like the Work of the Genii in Arabian Nights”.

A. USA, B. USSR, C. India, D. China

4. Find out the wrongly matched one.
Britain - Churchill, America — Roosevelt, Italy - Hitler, Russia - Lenin

5. Conditions during economic depression.
Unemployment - increased
Demand -- Decreased
Prices ---?

6. Arrange the countries from South to North based on their location
Australia, Philippines, Japan, USSR.

SECTION-2 2x1=2M
7. Why USSR was able to escape the effect of the depression?
8. What is Auschwitz?
Section-3 2x2=4M
9. Why Hitler targeted Jews as the main enemies?

10. Observe the following picture.
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Questions: 1.write any two islands which were under Japan control?
2. Name the area of china was under Japan control?
Section-4 2x4=8M

Answer the following question (internal choice)
11.What were the results of the great depression?

(or)
1917 Russian revolution many changes in the Russian society. What were they?
12. Locate following places in outline map of world. 4x1/2=2M
A) The country that was escaped from the great depression.
B) Head quarters of U.N.O
c) Poland
D) France.

(Or)

A) Head quarters of W.H.O

B) Any one VETO power country.
C) Pacific ocean

D) Suez Canal.

Prepared by: A.ABDUL RAHIM. S.A (SS) ZPHS NAGALADINNE. CELL: 9490396104.

Verified by: S.RANGA SWAMY S.A (SS) ZPHS KARIVEMULA.
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SOCIAL STUDIES FORUM KURNOOL

CLASS: 10™ (E.M)

DAILY TEST-9

MARKS:15 TIME: 30 MIN

LESSON: NATIONAL MOVEMENTS IN THE COLONIES.

*Answer the following questions 6x1/2=3m

1. Find the odd one out

A) Napalm, Agent B)

Orange, C)Phosphorous Bombs, D) D2 bomb

2. Arrange the countries from East to West based on their location
Nigeria, Vietnam, India, USA

3. What does “Xiao Shimin” mean?

4. Match the following;

1. Democracy and socialism a) sun yet sen

2. Militarised the nati

3. Peasent revolution

on b) chi yang kai sheik

c) Mao Zedong

4. Environmental movement d) ken saro viwa.

A)1a2b3c4d B)1la2c 3b 4d°'C) 1b 2c 3a 4d D) 1b 2a 3c 4d

5. Complete the information based on the first pair.
Nigeria: Colony of British: Vietnam?

6...Find the correct one regarding French citizens living in Vietham

A) Junkers, B)

Igbo’s, C) Colons, D) Warlords

SECTION-2 2x1=2M

7. Who launched a military campaign to control the warlords?

8. What is pan- Africanism?

SECTION-3 2x2=4M

9. America was justified in using chemical weapons like napalm and Agent Orange on

civilian populations a

10.

nd jungles”- can you support it? Justify your answer.
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1) Identify the country which is shown in the map?
2) In which continent this country is situated?
Section-4 1x4=4M

11. unlike Vietnam or India, Nigeria did not have to struggle so hard for freedom. Can you
find some explanations for this?

12. Locate the following places in the world map. 4x1/2=2M

A.) Nigeria B) Vietnam C) China D) U.S.A

THANK YOUu

Prepared by: A.LABDUL RAHIM. SA (SS) ZPHS NAGALADINNE. KURNOOL CELL: 9490396104
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SOCIAL STUDIES FORUM KURNOOL

DAILY TEST-10

CLASS: 10™ (E.M) MARKS: 15 TIME: 30 MIN

LESSON: NATIONAL MOVEMENT IN INDIA — PARTITION

*Answer the following questions.
Each question carries %2 marks only. 6x1/2=3M

. Find the odd one out

. Indian national congress - Jawaharlal Nehru

. Indian national army - Sub hash Chandra Bose
. Muslim League - Mohammed Ali Jinnah

. Naval Central Committee — Gandhi.

AWNPR R

. Write the correct order of the following incidents
. Assassination of Gandhi

. Formation of Muslim League

. Quit India movement

. Hunger strike by the royal Indian Navy.

AWONEDN

3. Find the odd one out with reference to Gandhi.
1). Non cooperation movement,  2). Quit India movement, 3). Civil Disobedience Movement, 4). Vandemataram
Movement.

4. Which party was willing to help Indians for attaining freedom----=-=-------- ?
5. Fill the information
Direct Action Day- Muslim League

Do or Die - ?

6. Identify the Indian National leader who appealed Hitler to prevent the war
Tagore, Tilak , Subahash Chandra Bose, M.K. Gandhi.

SECTION-2 2x1=2M

7. ldentify the logo of monument given bside.

8. Gandhi started Quit India Movement after the failure of which mission? And in which year this movement was led?
SECTION-3 3x2=6M
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9. Write briefly about Quit India Movement?

10. Write about Tebhaga movement?

11. Write about INA?

SECTION-4
12. What are the various reasons for the partition of India?
(Or)

“Integration of various princely states in India was a challenging task”. Is it true? — Comment

Prepared by: A ABDUL RAHIM. SA (SS) ZPHS NAGALADINNE. CELL: 9490396104
Verified by : S. RANGA SWAMY SA (SS) ZPHS KARIVEMULA. KURNOOL DIST.
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SOCIAL STUDIES FORUM KURNOOL

DAILY TEST-11

CLASS: 10™ (E.M) MARKS: 15 TIME: 30 MIN

LESSON: the Making of Independent India’s Constitution
*Answer the following questions.
Each question carries ¥2 marks only. 6x1/2=3 M

1. Find out the wrongly matched pair in keeping view of full pledged implementation of the constitution:
Indian Constitution — 1950,  Nepal Constitution -2007  , Japan Constitution —1946.

2. .Find add one out.
A) Judiciary B) Constitution C) Executive D) Legislature.

3. Based on the relationship between the information in the first pair complete the second pair:
President of USA: Secretaries: President of India?

4. What was the slogan given by Indira Gandhi during 1971 elections?

5. The Constitution of India begins with this statement:
1. “We the people of India”, 2. “We the sovereignty inherent people”, 3.“We the Indian people”

6. Complete the following information
Hari Singh — Jammu & Kashmir
MujaburRahaman?

SECTION-2 2x1=2M

7. Identify the picturegiven below and write any two sentences related to him.

8. What terms are included in the Preamble of Indian Constitution in 1976?
SECTION-3 3x2=6M
9. How many lists of powers are there in the constitution? Give some examples for each list.

10. Why do you think framers of our constitution reject the idea of dual citizen ship?

11. Discuss the idea of equality and justice as shown in the given picture.
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SECTION-4 Ix4=4M
12. Write a short note on basic principles of Indian constitution?
(Or)
Observe the graph and answer the questions given below.
25 e y TP =TT .

22500 22

20

16

15

10

R R L R O T B
0 '- ‘ o B 4 X :
1951-60 1961-70 1971-80 1981-90 1991-2000 2001-13
Graph: Since the Constitution was
Adopted on 26th January 1950 till 2013
Nearly 99 amendments were made.
Questions:

1. When Indian constitution was was adopted?

2. In between 1951-60 how many amendments made?

3. in which period more amendments were made?

4. What is the need of constitutional amendment?

Prepared by : A ABDUL RAHIM .SA (SS) Z.P.H.S NAGALADINNE . CELL: 9490396104
Verified by: S. RANGA SWAMY. SA (SS) Z.P.H.S. KARIVEMULA.
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SOCIAL STUDIES FORUM KURNOOL

DAILY TEST-12

CLASS: 10™ (E.M) MARKS: 15 TIME: 30 MIN

LESSON: PEOPLE AND SETTLEMENT
*Answer the following questions.
Each question carries /2 mark only. 6x1/2=3M

1. Find the odd one out of the following.
1. Suvarnabhoomi International Airport; 2. Indira Gandhi International Airport;

3. Rajeev Gandhi International Airport; 4. Bengaluru International Airport;

2. Delhi population rises mostly due to ...
A) Migration B) births c) deaths D) all

3. Where is Pratapgad?

AFGANISTAN

nnnnnnnn
vvvvvvvvvvv

6. Which city called natural port city?
A. Hyderabad B. Delhi C. Kolkata D. Vishakapattanam.

Section -2 2x1=2M
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7. Why Delhi is called Mega City?
8. What is URBANISATION?

Section-3 2x2=4M

9. Visakhapatnam population increased in a large scale” why?
10. What measures have to take to bring the seasonal migrate children to schools?
Section-4 1x4=4M

11. How does the census of India define various kinds of places? How does it organize them in
Order of size and other characteristics?

(OR)
What is an aerotropolis? How is it structured?
Section-5 4x1/2=2 M
Locate the following places in the outline map of India.

Delhi

Chennai
Vishakapattanam
Kolkata.

> W N PR

Prepared by : A ABDUL RAHIM .SA (SS) Z.P.H.S NAGALADINNE . CELL: 9490396104
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SOCIAL STUDIES FORUM KURNOOL

DAILY TEST-13

CLASS: 10™ (E.M) MARKS: 15 TIME: 30 MIN

LESSON: PEOPLE AND MIGRATION
*Answer the following questions.
Each question carries /2 marks only. 6x1/2=3M

1. Complete the second pair

1) USA - Skilled workers 2) West Asia — ?
2. Find out the wrongly matched pair
District / State - Reason for migration to the District / the
A. Bardhaman District - To work in fish processing industries
B. Assam - Towork in plantations
C. Odisha - Towork in mining sites
D. Maharashtra - To work in fish processing induStki cane fields.

3. What does the picture show? ‘
>

4. Sugarcane cutting is a w

5. Identify the pictureﬂa ) south Indian states in which migration takes place.

»
( = migration (including raral and
¢ j nrhan migrathon) nre % the north
1 R K (UP, MP, Haryana and Delhi) und
=gn nt
Nadn aod Kerala
4 . -
e >

State GOP (2007-08) tn Lakh Cromes
cJo-o2

6. Expand U.N, D.P?
SECTION-2 2x1=2M
7. What are remittances?

8. What is Emigration Act?

www.bestsocialteacher.com
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9. SECTION-3. 2Xx2=4M

Graph I : Expansion of Urban
Population in India, 1961-2011
(million)

® Natural increase

Observe the above graph and answer the following questions.
Q: - A) How much urban population was increased during 2001-2011
B) What is the main reason for the growth of urban populatio
10. Why do people migrate from rural to urban areas?

SECTION-4 1x4=4M
11. Why are only unskilled workers from India wanted in \Alest Astag countpies?
(OR)
“Migration increases the purchasing power of people.~“Do upport your statement.
SECTION-5 4x1/2=2M

12. Locate the following places in outline map of Indi

1. The Mega City in West Bengal.
2. The state having Koina Dam.
3. The Capital of Karnataka.

4. Highest remittances receivi e.
Prepared by: A. AB H SS) Z.P.H.S NAGALADINNE. CELL: 9490396104.
Verified by: S. IYGA . SA (SS) Z.P.H.S KARIVEMULA.
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SOCIAL STUDIES FORUM KURNOOL

DAILY TEST-14

CLASS: 10™ (E.M) MARKS: 15 TIME: 30 MIN

LESSON: RAMPUR A VILLAGE ECONOMY.
*Answer the following questions.
*Each question carries %2 marks only. 6x1/2=6M
1. Which state is following the same path of being 100% organic state after Sikkim?

2. ldentify the marked state in given below India map

3. This is the Example for non- farming activity
A. weeding b. shop keeping c. threshing d. transportation

4. Identify the wrong statement.

1. White revolution associated with —-milk

2. Multi cropping means — more than one crop.

3. HYV means- High Yielding Varieties

4. Raw material and money is called fixed capital.

5. One of the following is not a coarse cereal ---------------------
1. Jowar 2. Ragi 3. Wheat 4. Bajra

6. Expand MGNREGA------------=-nmmnmmeme-

SECTION- 2 4x1=4M
7. Write any two aspects of Rampur village’s economy which you like?
8. What are the Persian wheels?
9. What are the different ways of increasing production on the same piece of land?

10. What are the agricultural seasons?
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SECTION-3 2x2=4M

11. Ground water levels have reached dangerously low levels. Write two slogans to save ground water.

12. What does the graph show? (Explain graph briefly)

150 -
_— N
B ¢ o 8 140 4 : h {
5 e , '
© g 130 ‘ ;
2
|
O <
.> -Q 120 i P A d
s = , |
8 = 110 - - : ¢
=
1950 1960 1970 1980 1990 2000 - 2010
Year
SECTION-4 1x4=4M.

13.Write about the farming process in India?
(OR)

What changes have taken place in the way of farming practices in india?

Prepared by: A ABDUL RAHIM .SA (SS) Z.P.H.S. NAGALADINNE. KURNOOL DIST.CELL.
9490396104.
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SOCIAL STUDIES FORUM KURNOOL

DAILY TEST-15

CLASS: 10™ (E.M) MARKS: 15 TIME: 30 MIN

LESSON- GLOBALISATION

Answer the following questions.

Each question carries %2 marks only. 10x1/2=5M

1. Based on the relationship between the information in the first pair, complete the second pair.
Cargill Foods : Parakh Foods : Mahindra and Mahindra....??

2. SEZ stands for---------------------------

3. Which of the following organizations monitors the Liberalized policies of International Trade?
A) WH.O B)W.T.OC)W.M.OD) I.L.O

4. The advantage of arrival of multinational companies is -------
A) Employment opportunities for the people

B) Costly goods available at lower prices.

C) Transportations facilities.

D) All the above.

5. Write an imaginary caption for the image here. What does it tell about the globalisation?

S

6. The International Bank for Reconstruction and Development (IBRD) and the International
Development Association (IDA) are referred as World Bank. Related to Controlling these institutions
find add one out...

A) U.S.A B) JAPAN C) FRANCE D) INDIA

7. Find the benefit to the local companies of joint production with MNC:s.

A) Money from MNC B) Technical support. C)???

8. Which one of the following countries are benefited more from globalisation?

A. Developing countries B. Rich countries C. Developed countries.

9. Why do MNCs make investment?

A) To increase their assets B) For their own benefits C) For the benefit of foreign country D) For the
welfare of the poor people.

10. There are political and cultural dimensions of globalisation. Which is not related to this effect?
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A) Arab spring B) Natural calamities C) Civil war D) Interference of government.

SECTION-2 2x1=2M
11. Define Foreign Investment?
12. What is Globalization?

SECTION-3 2x2=4M

13. Explain the effects of Globalization in India?
14. What are the general criteria for selecting a site for operation of Multi National Companies?

SECTION-4 1x4=4M
15. Globalization is a curse and boon also, Explain? (The impact of globalization has not been
uniform. Explain this statement)
(OR)
What is the role of information technology in the globalisation process?

Prepared by: A. ABDUL RAHIM. SA. (SS) Z.P.H.S NAGALADINNE. KURNOOL DIST.
CELL: 9490396104
Verified by: S. RANGA SWAMY. SA(SS) Z.P.H.S. KRIVEMULA.
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SOCIAL STUDIES FORUM KURNOOL

DAILY TEST-16

CLASS: 10™ (E.M) MARKS: 15 TIME: 30 MIN

LESSON; THE FOOD SECURITY

*Answer the following questions.

*Each guestion carries 1/2marks only. 6x1/2=3M

1. Consider the following statements.
A. The National Food Security Act was made in 2013.
B. The National Food Security Act applies to whole population of India.
A)Aonly B)Bonly C)BothAandB D) Neither of these

2 Based on the relationship between the information in the first pair, complete the second pair..
Related to the standard kilocalories food to be taken per day?
A. Urban area- 2100 Kilocalories. B. Rural area- ??

3. Identify the wrong statement.

A) NIN- National Institute of Nutrition (HYD)
B) PDS- Public Distribution System.

C) MSP- Minimum Support Price.

D) ICDS- Integrated Child Distributed Scheme.

4. What is the largest school feeding programme in the world?

5. Asper nutritionist suggest (Every person should eat) Find add one out.
A) 300 grams vegetables/day B) 100 grams fruits / day C) 300 millilitres milk /day D)365 eggs/ year.

6. “The prevalence of chronic energy deficiency (BMI<18.5) among men was
About 35%, while overweight/obesity (BMI >25) was 10%. .........

“About 35% of adult women had chronic energy deficiency and14% were
Overweight/ obese. Who have highest obese?

A) Men B) Women.

SECTION-2 4x1=4M
7. What do you mean by buffer stock?

8. What does the poster denote given below.

YWalklk

i e in seven
rv night, one in S
E:isygoes 1o bed hur\gr}/.
1t doesn’'t have to be this way.
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9. What is the reason for providing mid day meals is govt school?
10. Correct and rewrite the sentence.

“Increase in food production alone ensure food security”

SECTION-3 2x2=4M
11. Sate any two defects which you find in organization of public distribution system
12. Give suggestions to implement the National Food Security act properly?

SECTION-4
1x4=4M.
13.”Public distribution can ensure better food security for people”-how?
(Or)

Which scheme was recently introduced by the Andrapradesh government for more quality meal in
the schools .what are the objectives of the scheme?

Prepared by: A. ABDUL RAHIM. SA. (SS) Z.P.H.S NAGALADINNE. KURNOOL DIST.
CELL: 9490396104.

Verified by: S. RANGA SWAMY. SA (SS) Z.P.H.S. KRIVEMULA
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SOCIAL STUDIES FORUM KURNOOL

DAILY TEST-17

CLASS: 10™ (E.M) MARKS: 15 TIME: 30 MIN

LESSON: SUSTAINABLE DEVELOPMENT WITH EQUITY

*Answer the following questions.

*Each guestion carries 1/2marks only. 6x1/2=3M

1. CNG Abbreviate -------------
2.Based on the first pair complete the second pair.
A) Chipko movement: Sunderlal bahuguna B) Narmada Bachavo Andolan: ?7?
3.” Silent spring “ written by------------ in 1962.
A)Eric B)Bava mahaliya C)Sunder lal bahuguna D) Rachel carson.
4.The potential of an environment to provide the resources is referred to as.
A.An “environment’s source function”. B. Pollution C. Air pollution D. Environment.
5.Find the odd one out, related to “before they pass away” (2013) book.
A. Massai warrior B. Jaheerabad people C. Yurta people D. Qing tribes.
6.Which article denote about the “right to life”’---------------
SECTION-2 4x1=4M
7. What is the “Sink Function”?
8. What is meant by sustainable development?

9 Observe the given picture. Write your caption in the context of environment.
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10.What do you mean by Bio-diversity?

SECTION-3 2x2=4M
11.Write about the chipko movement?

12. Rapid extraction of minerals and other natural resources would adversely impact the future
development prospects? Do you agree?

SECTION-4 Ix4=4M

13. . Of course, this doesn’t mean we don’t progress. But we should be able to integrate environmental
concerns with the idea of progress, along with issues of equity and justice. We have to find an
environmentally sustainable pathway out of poverty. It is not an easy task. And yet the beginnings
have already been made.

Q:- What are the beginnings that have been made for sustainable development?

(or)

How the use of endosulfan had violated the peoples’ right to life? Describe.

Prepared by: A. ABDUL RAHIM. SA. (SS) Z.P.H.S NAGALADINNE. KURNOOL DIST.
CELL:9490396104.
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SOCIAL STUDIES FORUM KURNOOL

DAILY TEST-18

CLASS: 10™ (E.M) MARKS: 15 TIME: 30 MIN

LESSON: Independent India first 30 Years 1947-1977

*Answer the following questions. 5x1/2=10M

1 Complete the following information, based on the first pair.
A.Tebagha movement — Bengal B. Anti Hindi agitation - ?

2. Find the correct one among the following with reference to communication language between centre and States.
A. Telugu, B.Tamil, C.English, D. Hindi

3. Find the odd one out with reference to Members of the States Reorganisation Committee
A. Jawaharlal Nehru, B. Fazal Ali, C. KM Panikkar, D. Kunzru

4. Arrange the following incidents in Chronological order:
A. Meghalaya state was formed B.Telangana State was formed C.Punjab state was formed. D. J&K divided into two union territories.

5. Allahabad High Court unseated this leader from Lok Sabha
A.Jawaharlal Nehru ,B. Indira Gandhi ,C. Rajiv Gandhi D., LalBahadurSathri

6..Find The correct person who merged different Sam Stans(territory) in India after independence is
1) Mahatma Gandhi 2) Jawaharlal Nehru 3) SardharVallabhai Patel 4) B.R. Ambedkhar

7. which five year plan given prioritise to “agriculture”-----==--------
8. match the following.

i. Garibi hatao a. 1971

ii. Emergency b. 1973

iii.Arab-israeliwar ¢.1975

A .ia, iib, ilic  B. liic, iib, ia. C. ia,iic iiib Diibiia iiic

9. Complete information based on the first pair.
A. Nationalization of Private Banks and Abolishment of Princely Pensions: Indira Gandhi B. Agricultural Cooperatives,
Land reforms: 7?7

10. Find the correct one among the following with reference to At present, the number of states and union
territories in India:

29 states and 6 union territories, 27 states and 7union territories,

28 states and 8 union territories, 26 states and 6 union territories

SECTION-II 2x1=2M
*Answer the following questions.

*Each question carries 1 mark.

Observe the photo and write few lines about it.
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12. What was the Nehru strategy of agricultural transformation?

SECTION-III 2x2=4M

13. Observe the given map and answer the following questions.

INDIA

I. What does the map explain?
ii. Is Hyderabad a part of Andhra state?

14. What are the aims of the 42nd Constitutional Amendment?

SECTION-iv 1x4=4M
15.””One party dominance is not preferable to the Indian democracy “-do you agree or differ? Comment.

(OR)

. What measures of Indira Gandhi are called ‘leftturn’? How do you think this was different from polices of previous decades?

Prepared by: A. ABDUL RAHIM. SA. (SS) Z.P.H.S NAGALADINNE. KURNOOL DIST.
CELL: 9490396104
Verified by: S. RANGA SWAMY. SA (SS) Z.P.H.S. KRIVEMULA.
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SOCIAL STUDIES FORUM KURNOOL

DAILY TEST-19

CLASS: 10™ (E.M) MARKS: 15 TIME: 30 MIN

LESSON: Emerging Political Trends 1977 - 2000

Note: Answer the following questions. 10x1/2=5M.

1. Find the mismatched pair.
A) Andhra Pradesh - YSR Congress Party B) Assam - AGP C) Tamilnadu - SAD D) J&K-NC

2. Find the odd one out with reference to the Regional political parties.
A) DMK B) TDP, C) National Conference  D)BJP

3. Identify the name of the Prime Minister of India who was murdered by Tamil extremists.
A) Indira Gandhi B) Rajiv Gandhi C) Jawaharlal Nehru D) Mahatma Gandhi

4. Identify the wrong pair.

A. Swedish manufactures - guns

B. Supreme court- Shah bano

C- Tamil militants - srilanka

D. Chandra babu Naidu- TDP founder.

5. West Bengal government launched” to record the names of sharecroppers” is called as-------------

6. Based on the relationship between the information in the first pair, complete the second the pair.
A.N.D.A-B.J.P U.P.A-7?

7. 1dentify the mismatched pair

A Liberalisation - PV Narasimha Rao

B Telecom revolution - Rajiv Gandhi(who said , every rupee spent on the poor barely 15 paise reaches them)
C .Khalistan - Bhindranwale

D .Operation Blue Star - Morarji Desai

8.73RD amendment belongs to......??

A.Elelection reforms. B.Local self government. C. Women welfare. D. 2009 Education act.

9.1dentify the person given below, who was the first non congress prime minister.

oy

10. Identify the picture given below, who introduced sale of rice at Rs 2 per Kg to the poor and liquor prohibition.
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SECTION-ii 2x1=2M
11. .Identify the leader in the The picture and write the statement which is not realted to him.

» Theleader in the photo is V.P.Singh. He was the Prime Minster, in the first coalition government.
> He negotiated with the International Monetary Fund for loans to overcome the financial crisis in India.

» He implemented the recommendations of the Mandal Commission by, reserving 27% of the seats to OBCs in
government education, educational institutions and employment.
12. What is “policy paralysis”?

SECTION-iii 2x2=4M
13. What reforms were started by Rajiv Gandhi to the country?

14. Write about Bhindranwale/sikh movement in Punjab?

SECTION-iv 1x4=4M

15. Read the table and answer the questions.

Coalition Governments and some political parties from 1980

United National

National

Governing Parties IR Front RS, Governing Parties
1996-1998 Alliance
1989-1990 Diesgined

JD; DMK; AGP; TDP ; Jammu & JKNC ; TDP; TMC; CPI; AGP; JDU; SAD; AIADMK, JKNC; Trinamool

Kashmir National Conference DMK; MGP; Samajwadi Party Congress; Biju Janata Dal ; Shiva

(JKNC) Sena;

Supporting Parties Supporting Parties Supporting Parties
CPM; CPI, BIP CPM TDP

This is not 8 compiete list of political parties that elther supported  for were part of the government. Often we have listed only those parties
that had more 5 or MPs

1. Who are the Prime Ministers in the National Front government?
2. What are the governing parties in all governments?
3. Name the supporting parties to the United Front government?
4. Expand NDA?
(OR)
How do different political parties raised to attract people in the second phase after independence?
Prepared by: A AABDUL RAHIM. SA(SS) Z.P.H.S Nagaladinne (v) Nandavaram. Cell: 9490396104.

Verified by: S.RANGA SWAMY. SA(SS) Z.P.H.S Karivemula (v) Devenakonda.
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SOCIAL STUDIES FORUM KURNOOL

DAILY TEST-20

CLASS: 10™ (E.M) MARKS: 15 TIME: 30 MIN

LESSON: POST-WORLD AND INDIA

* Answer the following questions.

*Each question carries 1/2mark only. 6x1/2=3M

1. Identify the wrong pair.

A. Permanent member countries-veto power. B. Warsaw pact-Russia , C. Independence of congo-1960 , D.Nehru'- NATO

2.ldentify the picture given below , which organization was established in 24" oct ,1945.

3. Find the wrongly matched pair.

A .Yasser Arafat- PLO

B .Gorbachev- Glasnost, Perestroika

C .Zulfigar Ali Bhutto- Luck now agreement

4. Arrange the countries from north to south based on their location
A.Palestine ,B. SoudiArabia , C. Australia, D. USSR

5. Based on the relationship between the information in the first pair, complete the second the pair
UNESCO: Paris: UNICEF : ?

6. Find the correct matched pair that related to the first human in the space.
A.Neil Armstrong — USA , B.Sunitha Williams - India C, Yurigagarin —USSR, D. Rakesh Sarma- India

SECTION-ii
*Answer the following questions 2x1=2M
7. Which countries have permanent membership in the Security Council?
8. What is non-alignment movement?
SECTION-iii 2x2=4M
9. Observe the graph and answer the questions.

CEHLET USSR/Russia

United States

Number of warheads

1945 1955 1965 1975 1985 1995 2005
Year

Graph: US and USSR Nuclear stockpiles.

1. Which country has more nuclear stock piles during 1955-1975?
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2. Which countries were participated in the arm race?
10.0bserve the map and answer the following questions.

Palestinian Loss of Land 1947 to Present

F ]
Israeli Land ) fsraeiitand ) [} Israeli &
mmPalestinian i muPalestinian |~ ¢ Occupied
Land Land i Land
h N Palestinian_
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i |
/ =
: Al
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LY ISRAEL |
\ /
{ \~
\ v
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| Partition \} / 1949-
Pal {
1947 Plan, 1947 M 1967 Rresent
4 &
1.  Which country occupied Palestine?
2.  Which country formed in 1947 by UNO?
SECTION-iv 1x4=8M

11. What are the different roles done by United Nations in order to build peace in the world?
(or)

. Read and understand the following text and answer the questions given below.

The UN thus started with a twin objective of ensuring Lasting peace and human development: At the same time it recognised the autonomy of states and
promised not to interfere in any internal affair of a country except in Cases mandated by serious human rights violation or threat to world peace.
QUESTIONS:

1. When was established the U.N.O?

2. What are the aims of U.N.O?

3. Write to slogans on to stop wars?

4. Which organisations was established after the world war?

SECTION-V 4X1/2=2M
Locate the following places in world map.
1. ) Any one veto power country. B) Head quarters of W.H.O C) Red sea D) Capital city of India.
(or)
A) The country where Bandung conference was held. B) Japan C) U.S.A D) Caspian Sea.

Remember :

*UNO had 54 founder members.

*Fidel castro led a revolution to build socialism in latin America

*NATO (North atlantic treaty organization ) 1949 formed by USA.*macmohan line between India and china.
*Jerusalem was holy city for Christians and muslims .*panchasheel pact between india and china in 1954
*PLO means Palestine liberation organization.*China became a communist republic in 1949

*zoinist movement was developed by- jews. *Abdul naseer formed fidayeens for causing explosions in Israel
*UNESCO located in paris.* UNICEF- Newyork, *VETO means invalid or rejected.

*Bandung conference was the first Asian- African conference represented by 29 nations

* NAM (non alignment movement) first summit was held at Belgrade in Yogoslavia in 1961

Prepared by:A.ABDUL RAHIM. SA (SS) CELL:9490396104.
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SOCIAL STUDIES FORUM KURNOOL

DAILY TEST-21

CLASS: 10™ (E.M) MARKS: 15 TIME: 30 MIN

LESSON: Social Movements in Our Times
*Answer the following questions. 10x1/2=5M
1. Complete the following information
A.Civils rights movement - USA

B.Bhopal gas disaster related movement - ??

2. The poster indicate Mr .Martin Luther king giving speech... what is the slogan had given by the luther.

3. Find the odd one out.
A. Silent valley movement , B.Narmada Bachao Andolan ,C. Green peace movement, D.civil rights movement

4. Find out the company that was related to Bhopal gas disaster
A.Dove, B. Nokia, C. Honda D .Cargill

5. Identify the correct one related to. “We won’t go” was the protest of......
A. Soldiers of Vietnam, B. Farmers of Vietnam, C. Army officers of USA, D. Citizens of USA.

6. Identify the movement that led by Kerala Shastra Sahitya Parishath
A.Chipko Movement, B.Green Peace movement, C.Silent valley movement, D.Anti Arrack movement.

7. complete the information based on the first pair.
A. Irom Sharmila - Against AFSPA
B. ?-NBA
8. Identify the correct person that related to Supreme court judge appointed to look into the possibility of
repealing AFSPA
A.Justice KT Shah, B.]Justice Jeevan Anand, C.]Justice Jeevan Reddy, D.Justice KG. Balakrishna

9.Identify the wrong statement.

A.Meira paibi means- torch bearers. B. CSE was founded by Anil agarwal in 1980. C.Chernobyl nuclear plant
affected a major accident in USSR. D. Anti arrack movement started in 1992 (debaguntla).

10.START means - strategic arms reduction treaty. .then, abbreviate “SALT”------=-=--=-s-snenmmmmammncnnnns

SECTION-ii 2x1=2M

11.Write two slogans on “ anti arrack movement”.
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12.What is Neo- liberalism?

*UNO Secretary General is- Antonio Guterres.
*Chief Information commissioner is- Sudhir Bhargava.

SECTION-iii

2x2=4M
13. Identify one state for each movement in the given India political maprelating to the following movements
1.Anti Arrack Movement
2.Bhopal gas tragedy
3.Meira Paibi Movement
4.Silent Valley movement

14. What are the basic features of social movements?

SECTION-iv 1x4=4M
15.0bserve the map and answer the questions given below.
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In which state indira sagar project is located?

Name the birth palce of naramada river?

Name the movement against sardar sarovar project?
In which ocean the naramada river merges?

iAW R

(Or)
Write about meira paibi movement in Manipur?

Prepared by: AAABDUL RAHIM. CELL.9490396104
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SOCIAL STUDIES FORUM KURNOOL

DAILY TEST-22

CLASS: 10™ (E.M) MARKS: 15 TIME: 30 MIN

LESSON: RIGHT TO INFORMATION: CITIZEN AND THE GOVERNMENT
SECTION-I 6X1/2=3M.

1. Find the odd one out with reference to the Legal Service Authorities act to beneficiaries.
Soldiers, Employers, Industrialists, weaker section of the people.

2. Identify the highest appellate authority at the central government.
PIO, SIO, SPIC CPIC

3. Identify the act which is providing right to the students to get their answer scripts to verify each
answer that it has been evaluated correctly.
A. Right to life act B. Children’s right act C. Legal services authorityact  D. Right to information.

4. Identify the correct one with reference to who can make amandments in RTI act
Supreme court, Parliament, President, Governor.

5. This type of information is not accessible to the citizens.

A.The particulars of its organization, functions and duties , B.The powers and duties of its officers and
employees ,C.The manner of execution of subsidy programs, including the amounts, D.Endanger the life
or physical safety of a person.

6.Complete the sentence based on the first information.
Juvenile Justice Act: 1986. :RTI Act:?

7..1dentify the wrong one inrespect of the benefits of Lok Adalat?
A.No court fee
B.Speedy trial of disputes
C.Procedural flexibility
D. The parties can indirectly interact with the judge.

8..Identify the age criteria related to Juvenile criminals.

A.Girls below 17

B.Persons aged below 19.

C.Children aged below 17.

D. Persons aged above 17.

9.NALSA abbreviate-----------=-------

10.find the wrong pair.

A. Legal service authority amendment act has done-1994&2002 .
B.Legal service authority act-1987.

C.The district judge is the legal services authority ex officio chairman.

D.A taluk legal services committee is headed by senior civil judge.
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E .A social Teacher is the first Appellate authority of your school.

SECTION-II 2X1=2M
11.What is Accountability?
12.What are civil cases?
SECTION-III 2X2=4M
13.What is the purpose / aim of the lok adalats?

14”.RTI has certain limitations” discuss? (or) what type of information is not accessibile by the courts?

SECTION-1V 1X4=4M

15. “Right to information is a powerful weapon in the hands of common man “- write your opinion?
(OR)

How the RTI act improve and monitor the work of the governments?

ikl *Remember points
*President of India- ------------------- shri Ramnath kovind

*Chief Election commissioner of India is-=----<--- shri Sunil Arora
* Vice president of India is------------- Shri Venkaiah Naidu.

*Finance Minister of India------ Smt, Nirmala seethaRaman.

*RBI Governor------------ Shasikanth Das.

wish you all the beést

Prepared by: AAABDUL RAHIM. 9490396104

Verified by: S.RANGA SWAMY.
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